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4x1 + 2x5 4 100
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1+100x,+120x
xo = 2,000 2,000

150x3b 80x,
2 ,000  2 ,000

+ .50x3  + .80x6
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amldlqJq~lloJ  x0 = ?i, + x2 + x, + x, + x, + xs + X6

th4Qa3in’slumfiWa

x, G 400,ooo

x1  d 120,000

x1  < 480,000

xq  < 240,000

xs  4 16,000

&u~“~~fhq”daa~%o  n&nnu?~njjU  A ~a~qnun~~rl8urrriaraiindinH’

.0085x,  + .008x1  + .155x,  + .142x,  + x,< .15(x,+x*+x1+&+x3+xJ

-.1415x, - .142x2  + .005x,  - .008x,  + .85x5  - 15xs  - .15x6  G 6

~uuvliuoJl~nartuni~ni~~~~u  A &k~qn~rduhd

.0085x,  + .008x,  + .155x, + .142x, + x, ,.13(x,+x,+x~+x,+xs+xs)

-.1215x1  - .122x1  + .025x3  •t- .012x,  + .87x, - .13x6  20

d’u~~3~~~oio~rl  iVia  n-mWwauimfu  D #u~aphd

.003x,  + .0035x, + .108x, + .093x, + x6<  .1(x,+x~+x,+x,+xs+x6)

-.097x, - .0965x, + .008x,  -- .007x,  - .lxs  + .9x, < 0

~uvf1ua~~~uan'u31uauiol1~u  D &kqnwflui’d

.003x,  + .0035x,  + .108x,  +.093x.  + x6 >,  .08(x1  +x2+x,+  xq+xs+x.)

-.077x*  - .0765x, + .028x3  + .013x,  - .08x,  + .92x6  30
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9JHlfhLpqRllDJXI  + x1 + x, + x. + x, + X6

dou~ll

-.1415x,- .142x, + .005x,- .008x, + .85x,-15x,

-.1215x, - .122x, + .025x, + .012x, + .87x,-.13x6

-.097x,-.0965x1  + .008x,-.007x,-.1x,  + 9xs

-.077x,- .0765x, + .028x,  + .013x,-.08x,  + .92x,

XI 4 400,000, x2 G 120,000, xn G 480,000

x4 G 240,000, x6 G 16,000

vpx, 2 0
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6

7

8

9

10

1 1

12

13

14

15

16

17

(m3mmllJlu)

40

35

25

20

45

58

45

40

30

50

30

50

20

15

30

20

50

25

25

40

filh/nri7u  pin)  h+nh  (~2)

4 12

4 7

6 9

8 1 1

a 1 1

12 12

10 14

10 14.

12 10

0 8

4 15

12 8

10 11

6 13

0 9

4 ,7

4 12

2 18

10 11

8 16
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slawn?lJ XI1 3 x,, 3 X22-
s.

4 fa 2 0 0 3 1
w

5fia 0 1 0 0 1
c

Siia,O 0 1 0 0---_-

dawiiu 0 3 2 0 3

aun,rfh~wiluSiJ~

X23 X14 Xl6 x16 cjkhmif.- - - -
'1 0 0 0 500

\
0 1 2 0 2,000

1 1 0 2 1,000_---

2 1 2 0

GM 412 157



i
158 GM 412



GM 4 1 2 159



1 6 0

,
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s~n,&qnua~  x0  = 5x, - 8x2 + 6x,

e;auru
3x,  + 2x,  + x,

2x1  + 7x,  -5x,

7x, + 5x*

16x2 - %I
Xl, x2

x3
j&ii

smifii~~~num  go = (-x0) = -5x:  + 8x2  - 6(X; - Xj)

l%JUlV 3x, + 2x1 + (x; -x;) Q 60

-2x, -7x, + qx; - x;) G - 8 0

7x,  + 5x1 G 40

-7x,-5x, < -40

6x,  + 9(x:-x;) < 120

-6x, - 9(x; - x;) < 120
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*

;f=,ai,xi+  s, = bi,i = 1.2 ,....... m

x, a O,j = 1, 2 ,...... n

s, 3 0, i = 1,2 ,...... m
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fi715/uin/nriau  5.25 uin 4.50 urn  4.00 uin 5.00 uin
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